
XLIV РОССИЙСКАЯ ОЛИМПИАДА ШКОЛЬНИКОВ 
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ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 
 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ! 

Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ, ЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ (Ѐ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀ-

ЀЀЀ — ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ).  

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ 5-7 ЀЀ. — 2,5 ЀЀЀЀ, ЀЀЀ 8 

ЀЀ. — 3 ЀЀЀЀ, ЀЀЀ 9 ЀЀ. — 3,5 ЀЀЀЀ, ЀЀЀ 10-11 ЀЀ. — 3 ЀЀЀЀ 55 ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ.  

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀ ЀЀЀЀЀ — Ѐ ЀЀЀ ЀЀ ЀЀЀЀ) ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ: 

610005, Ѐ. ЀЀЀЀЀ, 5, Ѐ/Ѐ 1026, ЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ, 

Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ, Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

1. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ 7 

ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀ 0 Ѐ ЀЀ ЀЀЀЀЀЀЀ 7, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

2. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ) ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ). Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀ ЀЀЀЀ 4, ЀЀ ЀЀЀЀЀЀ – ЀЀ ЀЀЀЀ 3.  

3. ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ •. Ѐ ЀЀЀЀЀЀЀ, ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀ: 

ЀЀЀЀЀЀ Ѐ Ѐ  Ѐ Ѐ Ѐ  Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ Ѐ  

7 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
6 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

5 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
4 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
3 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

1-2 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

0 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 
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ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀ: 

� ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ; 

� ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ; 

� ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ; 

� ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ), ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ. 

4. ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ-

ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀ (ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ). ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ Ѐ.Ѐ. 

5. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ 

ЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ.  

6. ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀ. ЀЀ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

7. ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ ЀЀЀЀЀ 5 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ-

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ. 

♦ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀ ЀЀ ЀЀЀЀЀ — ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ, ЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀ — ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

• ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ — 7 ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ». ЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ». ЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ». ЀЀЀЀЀЀЀЀЀ, ЀЀЀ 

ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀ ЀЀ, ЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ? ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀ. ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀ. 

♦ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 6 Ѐ 8 ЀЀЀЀЀЀЀ. 

• ЀЀЀЀЀ «ЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ — 3 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ-

ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ — 4 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 6 ЀЀЀЀЀ. ЀЀЀЀЀ 15 ЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ? ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀ 10 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀ 15 ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀ. ЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 15 ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 10 ЀЀЀЀЀ. 

• ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 3 ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ-ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ: 

ЀЀ 4 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. Ѐ ЀЀЀЀЀЀ ЀЀЀ+ЀЀЀ = ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ — ЀЀЀЀЀЀ ЀЀЀЀЀ. 

Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀ-ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. 

Ѐ) ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, 

274+316 = 590. ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ Ѐ ЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ (Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 590): 

276+314, 214+376, 374+216, 216+374, 314+276, 376+214, 316+274. 

• ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 3 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ: 4 ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 7 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ-

ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 100×100 ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀ, ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

2×2, ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, 

Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ  Ѐ ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 4 ЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀ, 

ЀЀЀЀЀЀ  Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ  Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ  ЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ Ѐ.Ѐ. ЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ 100 ЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ-ЀЀЀЀЀЀЀ, ЀЀ-

ЀЀЀЀ-ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ-ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 33 ЀЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 33×100 = 3300. 

♦ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 6 Ѐ 7 ЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀ 6 ЀЀЀ 11 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ! ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 6 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 10 ЀЀЀЀЀЀ? ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ Ѐ ЀЀЀ ¾ ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ: 5 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ 6 ЀЀЀЀЀ. ЀЀЀЀЀ 15 ЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ? ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 5 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: 3 ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀ 4 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ-ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ: 

ЀЀ 4 ЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀ 3. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ». ЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ». ЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ». ЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ? ЀЀЀЀ ЀЀ 

— ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ — ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀ  ЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ 

ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ  ЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ. Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ. 

♦ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀ 5 ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ 3 ЀЀЀ 8 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ «ЀЀ ЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ  7 ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ  6 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ 2017, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀ ЀЀ 0 ЀЀ 9. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, 201740346051806814119. 

♦ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ: ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 2017, 4034, 6051, 8068 

Ѐ 14119, ЀЀЀЀЀЀЀ ЀЀЀЀЀ 2017 Ѐ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀ 0 ЀЀ 9, Ѐ ЀЀ-

ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ: 7 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 200×200 ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀ, ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

2×2, ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ, 

Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ  Ѐ ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 4 ЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀ, 

ЀЀЀЀЀЀ  Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ  Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ  ЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ Ѐ.Ѐ., ЀЀ 199-

ЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ, 200-ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀ. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ 100 ЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ-ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ-ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 66 ЀЀЀЀ. ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 66×100 = 6600. 

♦ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 5 Ѐ 7 ЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀ 6 ЀЀЀ 11 ЀЀЀЀЀЀ. 
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• ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ! ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 7 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, 

ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 600 Ѐ. ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 

2 ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ  ЀЀЀЀЀ 6 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀ 300 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ 6−2 = 4 ЀЀЀЀ-

ЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ 

ЀЀ 300 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 3 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ». ЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ». ЀЀЀЀ ЀЀЀЀЀЀ: «ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ». ЀЀЀЀЀ 

ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ? ЀЀЀЀ 

ЀЀ — ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ — ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ. 

ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀ 6 ЀЀЀЀЀЀ. 

♦ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀ 5 ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ 3 ЀЀЀ 8 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ «ЀЀ ЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ  7 ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ  6 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀ ЀЀЀЀЀ-ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 11250: ЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ 1125, Ѐ ЀЀ 1250. 

• ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ: 7 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀ. 

♦ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ abcde  ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ bcde , ЀЀ ЀЀ 

bcde  ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 0000a  = 10000a. ЀЀЀЀЀЀЀ ЀЀЀЀЀ bcde  ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 10000, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ AB ЀЀЀЀЀ 3 Ѐ, ЀЀЀЀЀ ЀЀЀЀЀ ED 

ЀЀЀЀЀ 4 Ѐ, Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 33 ЀЀ. Ѐ. ЀЀЀЀЀ ЀЀ ЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ BC? ЀЀЀЀ ЀЀ — ЀЀЀЀЀЀЀ, ЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ — ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ. (ЀЀЀЀЀЀЀ ЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ.)  

A 

B C 

D E 

F 
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ЀЀЀЀЀ. ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ BA ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀ ED  ЀЀЀЀ ЀЀЀ, 

ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ BA ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀ ED. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ BA ЀЀЀЀЀЀ ЀЀ 4x < AF (ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀ x, ЀЀЀЀЀЀЀ AF/4), Ѐ ED — ЀЀЀЀ ЀЀ 3x: ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ 12x, Ѐ ЀЀЀЀЀ 

 ЀЀЀЀЀЀЀЀЀЀ ЀЀ 12x. Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ BA Ѐ ED, Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀ BC ЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ «ЀЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 0 ЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ BC ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 100×100 ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀ, ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ-ЀЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀЀЀЀЀ, ЀЀЀЀ-ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ? ЀЀЀЀЀЀЀ, 

ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 3×3 ЀЀЀЀЀЀ, ЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: 

ЀЀЀЀ  Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ  Ѐ 

ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ  Ѐ ЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 12 ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 13 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 100×100 Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀ ЀЀЀЀ) Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ: 1231423421431, Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀ 1. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ Ѐ 

ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀ-

ЀЀЀ 100 ЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 1231423421431 ЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 200. 

♦ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 5 Ѐ 6 ЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀ 6 ЀЀЀ 11 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 6 ЀЀЀ 11 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ! ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 8 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 1 ЀЀ, 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀ 5%. ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ? 

ЀЀЀЀЀ. 20 ЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ x ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ x ЀЀ
2
. ЀЀ ЀЀЀЀЀЀЀ x ЀЀЀЀЀЀЀЀЀЀ 5%, ЀЀ ЀЀЀЀ 1/20 ЀЀ 

ЀЀЀЀЀЀЀ x
2
 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ x = 20 ЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ ab+bc+cd+da = 0, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ a, b, c Ѐ d ЀЀЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ. 0 = ab+bc+cd+da = (a+c)(b+d). ЀЀЀЀЀЀЀ ЀЀЀЀ a+c = 0, ЀЀ ЀЀЀЀ a = −c, 

ЀЀЀЀ b+d = 0, ЀЀ ЀЀЀЀ b = −d. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀ 

ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀ. ЀЀЀЀ: «ЀЀЀЀЀЀЀ, ЀЀЀЀЀ 

Ѐ ЀЀЀЀЀЀЀ». ЀЀЀЀ: «ЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ». ЀЀЀЀ: «ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ». 

ЀЀЀЀ: «ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ». ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, Ѐ ЀЀЀ — ЀЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀ. ЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ Ѐ ЀЀЀЀЀ. ЀЀЀ ЀЀЀ ЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀ-

ЀЀЀЀЀ ЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ  ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ, 

ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

♦ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀ 5 ЀЀЀЀЀЀ Ѐ 

ЀЀЀЀЀЀ 3 ЀЀЀ 6 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀ «ЀЀ ЀЀЀЀЀ» ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — 0 ЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ  7 ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ  6 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. Ѐ ЀЀЀЀЀЀ ACEBD ЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ A 

Ѐ B, ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ E Ѐ C, Ѐ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

AC Ѐ BE. ЀЀЀЀЀЀЀЀ, ЀЀЀ AD = BD.  

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ F ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ AC Ѐ BE. ЀЀЀ ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ CFE ЀЀЀЀЀ ЀЀЀЀ C Ѐ 

E, ЀЀЀЀЀ CF = EF, ЀЀЀЀЀЀ AF = AC−CF = BE−EF = BF. ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ AFB ЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ A 

Ѐ B. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ A Ѐ B Ѐ Ѐ ЀЀЀЀЀЀЀЀЀЀ-

ЀЀ ADB, ЀЀЀЀЀЀ AD = BD. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ G Ѐ H ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀ EC Ѐ ЀЀЀЀЀЀЀ AD Ѐ BD ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ ACG Ѐ BEH ЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ AGC Ѐ BHE, Ѐ, ЀЀЀЀЀЀ, Ѐ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ 

ЀЀЀЀ DGH Ѐ DHG, ЀЀЀЀЀЀ DG = DH. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ACG Ѐ BEH ЀЀЀЀЀЀЀ, ЀЀЀ AG = BH, ЀЀЀЀЀЀ AD = AG+DG = BH+HD = BD. 

• ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ACG Ѐ BEH, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: 1 ЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 15 ЀЀЀЀЀЀ ЀЀЀ, ЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ: a1 ≥ a2 ≥ … ≥ a15. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ. ЀЀЀЀЀЀЀ a1 ≥ a2+a3 ≥ a4+a5+a6+a7 ≥ a8+…+a15, ЀЀЀЀЀЀ 4a1 ≥ a1+…+a15, ЀЀЀ Ѐ ЀЀЀЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

♦ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 6 ЀЀЀ 9 Ѐ 10 ЀЀЀЀ-

ЀЀЀ. Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 6 ЀЀЀ 10 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ: ЀЀЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ.  

F F F 
H 
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ЀЀЀЀЀЀ 6. ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 49 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ 100. ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ 100, ЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀЀ 50, ЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ 

ЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀ 1 ЀЀ 49. 

Ѐ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 47. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 47 Ѐ 94. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 47, ЀЀЀЀЀ 

1. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ 41 Ѐ 43, Ѐ 

ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ 50, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀ ЀЀЀ: 1 ЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 9 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀ 5%. ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀ 30%, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀ 45%. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀ 20%. ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 100%, Ѐ ЀЀЀЀ Ѐ ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀ 5%+30%+45% = 80%. ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 100%−80% = 20%. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ n ЀЀЀЀЀ, ЀЀЀ n–2 ЀЀЀЀЀЀЀ ЀЀ 

5, Ѐ n+3 ЀЀЀЀЀЀЀ ЀЀ 7. 

ЀЀЀЀЀ. n = 32. ЀЀЀЀЀЀЀ. ЀЀЀЀ n−2 ЀЀЀЀЀЀЀ ЀЀ 5, ЀЀ ЀЀ 5 ЀЀЀЀЀЀЀ Ѐ n+3 = (n−2)+3. 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ n+3 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀ 7, Ѐ ЀЀ 5, Ѐ, ЀЀЀЀЀЀ, Ѐ ЀЀ 35 (ЀЀЀ ЀЀЀ 5 

Ѐ 7  ЀЀЀЀЀЀЀ ЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ n+3 ЀЀЀЀЀ 35, ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ n 

ЀЀЀЀЀ 32. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 32: 2 ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ 32, ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀ 

ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀ ЀЀЀЀЀ-ЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀЀ 

a, ЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 

x
2
−ax+a = 0. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ a

2
−4a > 0, ЀЀ ЀЀЀЀ ЀЀЀ 

a ∈ (−∞, 0) ∪ (4, +∞). ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ a (ЀЀЀЀЀЀЀЀ, a = 5), ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ (Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, 
5 5

2

±
). 
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♦ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ x
2
−ax+a = 0 ЀЀЀ ЀЀЀЀЀ a ∈ (−∞, 0) ∪ (4, +∞) ЀЀ ЀЀЀЀЀ ЀЀЀЀ-

ЀЀ: ЀЀЀЀЀЀЀЀЀ m+n = mn ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (m−1)(n−1) = 1, ЀЀЀЀЀЀ m = n = 2 ЀЀЀ 

m = n = 0. 

• ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ: 7 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ, ЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ, Ѐ ЀЀЀ-

ЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. AB — ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ω. ЀЀЀЀЀ ЀЀЀЀЀ C ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-

ЀЀ AB ЀЀ ЀЀЀЀЀ A ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ω Ѐ ЀЀЀЀЀЀ D Ѐ E 

(ЀЀЀЀЀ D ЀЀЀЀЀ ЀЀЀЀЀ C Ѐ E). ЀЀ ЀЀЀЀЀ A Ѐ B ЀЀ ЀЀЀЀЀЀ DE ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ-

ЀЀ AP Ѐ BQ. ЀЀЀЀЀЀЀЀ, ЀЀЀ DP = EQ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ O ЀЀЀЀЀЀЀЀЀЀ ω ЀЀЀЀЀЀЀЀЀЀЀЀЀ OH ЀЀ ЀЀЀЀЀЀ 

DE. ЀЀЀ ЀЀЀ ЀЀЀЀЀЀ AP, BQ Ѐ OH ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ), 

Ѐ OA = OB, ЀЀ HP = HQ. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, HD = HE ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ. ЀЀЀЀЀЀЀ DP = |HP−HD| = |HQ−HE| = EQ. 

♦ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 10 ЀЀЀЀЀЀ.  

• ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ 

ЀЀЀ ЀЀЀЀ ADE Ѐ BED — ЀЀЀЀЀ (∠BED > ∠BEA = 90°, ∠ADE > ∠ADB = 90°), Ѐ ЀЀЀЀЀЀ 

ЀЀЀЀЀ P Ѐ Q ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ DE. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ DP = HP−HD 

Ѐ HQ−HE = EQ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 1 ЀЀЀЀ. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 100×100 ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀ, ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ-ЀЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀЀЀЀЀ, ЀЀЀЀ-ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 7 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ! ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀ 6. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 15 ЀЀЀЀЀЀ ЀЀЀ, ЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ: a1 ≥ a2 ≥ … ≥ a15. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ k ≤ 13 ЀЀЀЀЀ ak ≥ ak+1+ak+2 ≥ 2ak+2, ЀЀЀЀЀЀ ak+2 ≤ ak/2. ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ: 

a3+a5+…+a15 ≤ a3+a3/2+…+a3/2
6
 < 2a3, 

a2+a4+…+a14 ≤ a2+a2/2+…+a2/2
6
 < 2a2. 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ, a2+a3+…+a14+a15 < 2a2+2a3 < 2a1, ЀЀЀЀЀЀ a1+a2+…+a14+a15 < 3a1, ЀЀЀ Ѐ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

♦ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 6 ЀЀЀ 10 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ. 

• ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ: 2 ЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀ ЀЀЀЀЀ 10 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀ ЀЀ 10%. ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀ 60%, ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ, ЀЀ ЀЀ 90%. ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀ 40%. ЀЀЀЀЀЀЀ. ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 200%, Ѐ ЀЀЀЀ Ѐ ЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀ 10%+60%+90% = 160%. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 200%−160% = 40%. 

• ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ: 2 ЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ) ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 5×2×2 Ѐ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀ 3×3×4. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 5×2×2 

«ЀЀЀЀЀЀЀ» 7×7×2 Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 3×3×2 ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ 

«ЀЀЀЀЀЀЀ» ЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 7×7×4 Ѐ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀЀ 3×3×4. ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. 

• ЀЀЀ 7 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 100×100 ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀ ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ-ЀЀЀЀЀ, ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ-ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀЀЀ? 

ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 5 ЀЀЀЀЀЀ. 

• ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ! ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀ. ЀЀ ЀЀЀЀЀЀЀЀЀЀ 2 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ.  

ЀЀЀЀЀЀ 4. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀ a+b+c+d = 0 Ѐ ab+bc+cd+da+ac+bd = 0, ЀЀ 

a = b = c = d. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ a+b+c+d = 0 Ѐ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 

0 = a
2
+b

2
+c

2
+d

2
+2(ab+bc+cd+da+ac+bd) = a

2
+b

2
+c

2
+d

2
, ЀЀЀЀЀЀ a = b = c = d = 0. 

ЀЀЀЀЀЀ 5. Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀ AD Ѐ ЀЀ. ЀЀЀЀЀ Ѐ Ѐ N — ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ DE ЀЀ ЀЀЀЀЀ Ѐ Ѐ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ-

ЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀ = DN. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ D Ѐ E ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ AC ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀ 

ЀЀ ЀЀЀЀЀЀ O ЀЀЀЀЀЀЀЀЀЀЀЀЀ OH ЀЀ ЀЀЀЀЀЀ DE. ЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀЀ AM, CN Ѐ OH ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 

ЀЀЀЀЀЀ), Ѐ OA = OC, ЀЀ HM = HN. Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

HD = HE. ЀЀЀЀЀЀЀ DN = |HN−HD| = |HM−HE| = EM. 

• 1) ЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ D Ѐ E ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ AC 

ЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ: 1 ЀЀЀЀ. 2) ЀЀ ЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ AED Ѐ 

CDE — ЀЀЀЀЀ (∠AED > ∠CEA = 90°, ∠CDE > ∠CDA = 90°), Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ M Ѐ N ЀЀ-

A C 

B 

D

O

M

N

H

E
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ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ DE. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ DN = HN−HD Ѐ 

HM−HE = EM ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ 1 ЀЀЀЀ. 

ЀЀЀЀЀЀ 6. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ, ЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀ: a1 ≥ a2 ≥ … ≥ am. ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ k ≤ m–2 ЀЀЀЀЀ ak ≥ ak+1+ak+2 ≥ 2ak+2, ЀЀЀЀЀЀ ak+2 ≤ ak/2. ЀЀЀЀ-

ЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ a3, ЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ a3+a3/2+…+a3/2
n
+… = 2a3, Ѐ ЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ Ѐ a2, ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ-

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ a2+a2/2+…+a2/2
n
+… = 2a2. ЀЀЀЀЀЀЀ 

a2+a3+…+am < 2a2+2a3 < 2a1, ЀЀЀЀЀЀ a1+a2+…+am < 3a1, ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ. 

♦ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ n ЀЀЀЀЀЀ — Fn/(Fn+2–1), ЀЀЀ Fn — n-ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀ 11 ЀЀЀЀЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀ ЀЀЀЀЀ-ЀЀЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀЀЀ — ЀЀЀЀЀ ЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 1+ 2  Ѐ 1– 2 .  

♦ ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ x
2
+px+q = 0 Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 

p Ѐ q Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 1+ 2  Ѐ 1– 2  — ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ x
2
–2x–1 = 0. 

• ЀЀЀ 7 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 2. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ) ЀЀ 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 5×2×2 Ѐ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀ 3×3×4. 

ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 2 ЀЀЀ 10 ЀЀЀЀЀЀ. 

• ЀЀЀ 7 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ: sin x = tg y, cos x = ctg y. 

ЀЀЀЀЀ. ЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ-

ЀЀ, ЀЀЀ sin x⋅cos x = tg y⋅ctg y = 1. ЀЀ sin x⋅cos x = sin 2x/2 ≤ 1/2. ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ tg y⋅ctg y = 1, ЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀ ЀЀЀЀЀ tg y Ѐ ctg y ЀЀ ЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀ 1. ЀЀЀ ЀЀЀ sin x Ѐ cos x ЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ 1, ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ 

sin x Ѐ cos x ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 1. ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ 0. ЀЀЀЀЀЀ, 0 

ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ tg y Ѐ ctg y. ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀ 

ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 4. ЀЀ ЀЀЀЀЀЀЀ BC ЀЀЀЀЀЀЀЀЀЀЀЀ ABC ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ P, Ѐ ЀЀ ЀЀЀ-

ЀЀЀЀЀ AC Ѐ ЀЀ – ЀЀЀЀЀ ЀЀЀЀЀ Q Ѐ R ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀ CQ = 2QA Ѐ AR = 2RB. ЀЀ-

ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ P, Q Ѐ R. ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ABC? 
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ЀЀЀЀЀЀЀ. ЀЀЀЀЀ Ѐ1 – ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ. ЀЀЀЀЀЀЀ AQ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ, ЀЀ ЀЀЀЀ 2/3 ЀЀЀЀЀЀЀ ЀЀ1, Ѐ ЀЀЀЀЀЀЀ AR ЀЀЀЀЀЀЀЀЀЀ 2/3 ЀЀЀЀЀЀЀ ЀЀ. ЀЀЀ-

ЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ARQ Ѐ ЀЀЀ1 ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ 2/3, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ RQ 

|| BB1 Ѐ RQ = 2BB1/3. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ1Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ1. ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ1 Ѐ ЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀ 3/4 ЀЀЀЀЀЀЀ RQ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ, 

ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ1, ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ 
1

3 / 4PP RQ=

uuur uuur

. ЀЀЀЀЀ Q Ѐ Ѐ1 

ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀ Ѐ QP1 = QB1+Ѐ1Ѐ = ЀЀ/6+ЀЀ/4 = 5ЀЀ/12. ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ-

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ Ѐ, ЀЀЀЀЀЀЀ 3/5 ЀЀЀЀЀЀЀ QP1 ЀЀ ЀЀЀЀ QP1 ЀЀ ЀЀЀЀЀ Ѐ1, Ѐ Ѐ, ЀЀЀЀЀЀЀ 4/5 

ЀЀЀЀЀЀЀ QP1 ЀЀ ЀЀЀЀ P1Q ЀЀ ЀЀЀЀЀ Q, Ѐ ЀЀЀЀЀ Ѐ ЀЀЀЀЀ Ѐ, ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ AR Ѐ 

CP. 

ЀЀЀЀЀЀ 5. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ, ЀЀЀ ЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀ, ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ. ЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 6 ЀЀЀ 10 ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀ 6. ЀЀЀЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ Ѐ ЀЀ ЀЀ. ЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 100×100 Ѐ) Ѐ ЀЀЀЀ ЀЀЀЀЀЀ; Ѐ) Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ? 

ЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ. Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 11 ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 

100×100 Ѐ ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀ) Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ: 

12345241351, Ѐ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ 1. ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, Ѐ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀ 100 ЀЀЀЀ. ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, 

ЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 12345241351 ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀ ЀЀЀ, ЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 100. 

Ѐ) ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 31 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 100×100 Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀ: 

1234561234561352462513624153641. ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ 1. 

ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 2 ЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-

ЀЀ ЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ 200. 

♦ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ) — ЀЀЀ ЀЀЀЀЀЀЀ ЀЀ-

ЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ 1, 2, 3, 4, 5. ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀ-

ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ 6 ЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀ-

ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀ. 

♦ ЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀ 5 ЀЀЀ 5, 6, 7 ЀЀЀЀЀЀЀ. 

• Ѐ) ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ — 2 ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ — 

1 ЀЀЀЀ. Ѐ) ЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ — 3 ЀЀЀЀЀ, ЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ — 

1 ЀЀЀЀ. ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ! 

ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀ 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ: 8-4, 9-1, 10-1, 10-5. 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 1995 ЀЀЀЀ: 11-4. 

ЀЀЀЀЀЀЀЀ: 5-1, 5-3, 6-1, 6-2, 7-1, 8-1, 8-2, 8-4, 9-3, 10-4, 10.6 = 11.5, 11-1. 

ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 
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ЀЀЀЀЀЀЀЀЀЀ 1. ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ 2016/17 Ѐ. 

ЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 6 ЀЀ. – ЀЀ 7 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ. – ЀЀ 
9 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 10 ЀЀ.). 

ЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ 
— ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀ Ă21 Ѐ. ЀЀЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 10 ЀЀ.). 

ЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀ, ЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 
(ЀЀЀ — ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 10 ЀЀ.), ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀ Ă28 
Ѐ. ЀЀЀЀЀЀ, 10 ЀЀ.). 

ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 11 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀ 
(ЀЀЀ — ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀ, 7 ЀЀ.), ЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, 
ЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀ Ă21 Ѐ. ЀЀЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀ 
ЀЀЀЀЀЀЀ (ЀЀЀЀ, 8 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 10 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ I ЀЀЀЀЀЀЀ: ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ II ЀЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 9 ЀЀ.), ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ (ЀЀЀЀЀ Ă21 Ѐ. ЀЀЀЀЀЀ, 9 ЀЀ.). 

ЀЀЀЀЀЀЀЀЀЀ 2: ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ 2016 – ЀЀЀЀЀЀЀ 2017) 

25 ЀЀЀЀЀЀЀ-1 ЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ XX ЀЀЀЀЀ ЀЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ-
ЀЀЀЀЀЀ 58 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 32 ЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ 10-11» ЀЀЀЀЀЀ 7 ЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ–ЀЀЀЀЀЀЀЀЀЀЀЀ 10» ЀЀЀЀЀЀЀЀ 3-4 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ,  ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-9» — 6 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

25 ЀЀЀЀЀЀ – 1 ЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀ XLVIII ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ 88 ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 27 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-8» ЀЀЀЀЀЀ 4 
ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-7» — 1 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-6» — 7 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ». 

20 – 22 ЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ. 
11 ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-5-1», «ЀЀЀЀЀ-5-4», 
«ЀЀЀЀЀ-6-1», «ЀЀЀЀЀ-6-2» ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-4-1», «ЀЀЀЀЀ-4-2», «ЀЀЀЀЀ-5-
3», «ЀЀЀЀЀ-5-5», «ЀЀЀЀЀ-6-3» — ЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-6-4» — ЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ. 

17–23 ЀЀЀЀЀЀЀ: XLIX ЀЀЀЀЀЀЀЀЀ (ЀXV ЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ-
ЀЀЀЀЀЀ 92 ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ 35 ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-8-1» ЀЀЀЀЀЀ 1 ЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-8-2» — 5 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-7-1» — 7 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-7-2» — 8 ЀЀ-
ЀЀЀ ЀЀ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-6-1» Ѐ «ЀЀЀЀЀ-5-1»  —5 Ѐ 6 ЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ», ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-6-2» ЀЀЀЀЀЀЀЀЀ 7-8 ЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ 
ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ», ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-5-2» ЀЀЀЀЀЀЀЀЀ 7-8 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ». 

12 ЀЀЀЀЀЀЀ (ЀЀЀ 6-8 ЀЀ.) Ѐ 5 ЀЀЀЀЀ (ЀЀЀ 9-11 ЀЀ.): ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 12 ЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ-
ЀЀЀЀЀ ЀЀЀЀЀ ЀЀ ЀЀЀЀ Ѐ. ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 9-11 ЀЀЀЀЀЀЀ 5 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀЀЀ. 32 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ (Ѐ ЀЀЀЀЀЀЀЀ 
III ЀЀЀЀЀЀЀ ЀЀ 9 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ, 
ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ, ЀЀЀЀ 
ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 6 ЀЀ.), ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ I 
ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀ, 5 ЀЀ.), ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀ-
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ЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, 6 ЀЀ.), ЀЀЀЀ ЀЀЀЀЀЀЀ 
(ЀЀЀЀЀ Ă21 Ѐ. ЀЀЀЀЀЀ, 7 ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ (ЀЀЀ — ЀЀЀЀ, Ѐ. ЀЀЀЀЀ, 
7 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ. 

16 ЀЀЀЀЀ: 29505 ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-ЀЀЀЀ "ЀЀЀЀЀЀЀ-2017". 

26 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ», ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀ Ѐ Ѐ ЀЀЀЀЀЀ-ЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 40 ЀЀЀЀЀЀ 4 ЀЀЀЀЀЀ Ѐ 61 ЀЀЀЀЀЀЀ 5 ЀЀЀЀЀЀЀ 
ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

21-24 ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ IX ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀ» Ѐ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀ ЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀ 239 ЀЀЀЀЀЀЀЀ 6-8 ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ, ЀЀЀЀЀЀ, 
ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ-ЀЀЀЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀ 60 ЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀ-
ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ 
— ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ — ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. Ѐ ЀЀЀЀ ЀЀЀ ЀЀЀ Ѐ ЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ «ЀЀЀЀЀЀЀЀЀЀЀ» ЀЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀЀ» Ѐ ЀЀЀЀ. 

14 – 16 ЀЀЀЀЀЀ: ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ. 11 ЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ «ЀЀЀЀЀ-5-1», «ЀЀЀЀЀ-5-3», «ЀЀЀЀЀ-5-5», 
«ЀЀЀЀЀ-6-1» ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-4-1», «ЀЀЀЀЀ-6-2», «ЀЀЀЀЀ-6-3» — ЀЀЀЀЀЀЀ 
II ЀЀЀЀЀЀЀ, «ЀЀЀЀЀ-4-2», «ЀЀЀЀЀ-5-2», «ЀЀЀЀЀ-5-4», «ЀЀЀЀЀ-6-4» — ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ. 

16 ЀЀЀЀЀЀ: XIII ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ. Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ 
(XV ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ, Ѐ. ЀЀЀЀЀЀ). ЀЀЀЀЀЀЀЀЀЀЀ 24 ЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ — ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ. 
ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ), ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀ-
ЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀ, 11 ЀЀ.) — ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 

24-30 ЀЀЀЀЀЀ: ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀЀЀЀЀ. ЀЀЀЀЀЀЀЀЀЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 9 ЀЀ.) ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (Ѐ ЀЀЀЀ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 10 ЀЀ.), ЀЀЀЀЀ ЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ 11 ЀЀ.), ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ-
ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ-
ЀЀ. ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ 8-ЀЀ Ѐ 10-ЀЀ ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ Ѐ. 

15-21 ЀЀЀ: Ѐ Ѐ. ЀЀЀЀЀЀЀЀЀ (ЀЀЀЀЀЀЀЀЀ) ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ ЀЀЀ ЀЀЀЀ-
ЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀ «ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ». ЀЀЀЀЀЀЀ 10 ЀЀЀЀЀЀЀ Ѐ. ЀЀЀЀЀЀ ЀЀЀЀЀЀ 3 ЀЀЀЀЀ Ѐ 
ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ 9 ЀЀЀЀЀЀЀ — 7 ЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. 

3–28 ЀЀЀЀ: XXXIII ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ. 438 ЀЀЀЀЀЀЀЀ, Ѐ 
Ѐ. Ѐ. 324 ЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀ ЀЀЀ 55 ЀЀЀЀЀЀЀ Ѐ ЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

30 ЀЀЀЀ – 2 ЀЀЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ ЀЀ 
ЀЀЀЀЀЀЀЀЀ ЀЀЀЀ XIII ЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀ. Ѐ.Ѐ. ЀЀЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ, Ѐ. ЀЀЀЀЀ. 

3 – 11 ЀЀЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀ ЀЀЀЀЀЀ, ЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ Ѐ ЀXIX ЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ (ЀЀЀЀЀЀ). 
ЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

11-15 ЀЀЀЀЀЀЀ: ЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ-
ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀЀЀ Ѐ Ѐ. ЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀ-
ЀЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀ 16 ЀЀЀЀЀ ЀЀЀЀЀ ЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ. 

24 ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀ «ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ», Ѐ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ 
736 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 590 ЀЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀ Ѐ ЀЀЀЀЀЀЀ. 

13 – 15 ЀЀЀЀЀЀЀ: Ѐ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀ ЀЀЀЀЀ Ѐ.Ѐ. ЀЀЀЀЀЀЀ. 
ЀЀЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ 10 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ. ЀЀЀЀЀЀЀ ЀЀЀЀЀ 6-1 ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀ I ЀЀЀЀЀЀЀ, 
ЀЀЀЀЀЀЀ ЀЀЀЀЀ 5-5 Ѐ ЀЀЀЀЀ 6-3 — ЀЀЀЀЀЀЀ II ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀ ЀЀЀЀЀ 5-2, ЀЀЀЀЀ 5-4, ЀЀЀЀЀ 
6-2, ЀЀЀЀЀ 6-4 — ЀЀЀЀЀЀЀ III ЀЀЀЀЀЀЀ. 

ЀЀ ЀЀЀЀЀЀ XXXVIII ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ, ЀЀЀЀЀЀЀЀЀЀЀЀ Ѐ 2016/17 ЀЀЀЀЀЀЀ ЀЀЀЀ, 41 
ЀЀЀЀЀЀЀЀ ЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀ ЀЀЀЀЀЀЀЀЀЀ. 

 Ѐ.Ѐ.ЀЀЀЀЀЀЀ, 2017. 


